4 (Q)

1. Short answer section: fill in the equality with the correct expression. (5 pts. each)

(2) T F'(2) = f(o), then [ flo()'() do=| T~ (3(133 +C

(b) From the FTC we have % / o () dt = T£< %(x\\) . %‘(x>

2. Evaluate the integral using any method, but clearly show your work for full credit. Hint: draw a
picture. (10 pts.)
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3. Evaluate the integral. (14 pts.)

/3
U-Suls / cos(3z) sin(3z) dx
0

1=$ih(3%> MN? G .V L oud

du= B cos(2) &tj E

4 YuSun = (,{2 lf
—Forr > -
0 w |
= 5\h (S%B l
sw(w)=0

S\\K&O\ =0

-
—

L SC(3E) - Lz

4. Solve the separable differential equation. (14 pts.)

dy (y2 + 1)ev=
dr 2z
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5. Find the area bounded by the curves y = 2% — 4z and y = z — 4. Show all your work for credit.
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6. Lety—/ot n:Ecos(7rt2) dt. Find the value of—Zi when z = /6. (14 pts.)




7. Evaluate the limit using any method. Clearly indicate your work for full credit. (10 pts.)

nll)rrolo nli<3<1+—2§)2+1>
- S Gorr)du = 134 |]
\
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=(22 |

8. Find a closed formula for Ly, the left- endpomt Riemann sum for the function y = 22 — 2 over the
interval [0, 3]. (14 pts.)
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Bonus: (up to +5pts.) Find the average value of y = |z — 1| + 1 over the interval [0,3].
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